





Packlzboz?me CKOOKU:
(a+ b)* = a* + 2ab + b*

© 2 et +6ct+9
(n+5)°=n"+ 1un+ 25




Pacxkpoume cxobxu:

(q-. 0\2_ A. 2 40.. 1 N
/4.-;,.\2 0 )

(6C — 5)2 =-3|4‘d2 = 4‘d + 1;



Samenume * marx, umoowv?
e L A D G U G s

(k+)* = K ++ k + 64




Pazrnocmwv xeadpamoas

(a - b)(a+ b) =a* — b*




Pacxkpoume cxobxu:
(a — b)(a + b) = a* — b?

(m + n)(m —n) =m? — n*
(4+y)(y—4) =y" - 16

= WNgTT



Packpoume ckobru:

/s n\ /N 2 a0 -~

(v1 AN74 1 nI\N A 12 4

(5+ 6y)(6y - 5) =36¢* - 5



Samernume * max, umoowvt
66INOAHANOCH PABEHCINEO:

(4 4% q)(4 —* q) =16 - 250°
(5 + 6y)(x =5) =36¢" - 25




